Algebra 2 NAME Key
Quadratics Part 2 Review DATE

1. Simplify each of the following:
a. 2+7i)—-(-3-20)

5 +4i
b. (3 + 10i)(—4 — 8i)
18 ~a%; ~Ho; - §Oi*
-1 -4 +80
08 - b4,
c. (1+6i)(1— 6i)
| - 3o *
37

2. Solve algebraically: \/5 -x+3=x

o -H=0 Xx-{ =0
NG-x = X-3 E x =1

' =
5-x= (x-3) Chedk
5-¥X= x?-x+9 V5.4 +3=4 ) x=4
0= x>-5x+Y4 d=d /
0= (x-t4Yx-1) V-1 +#3=]
3. A pelican flying in the air over water drops a crab from a height of 30 feét. The distance
~ the crab is from the water as it falls can be represented by the function A(f) = =16¢* + 30
, Where t is time, in seconds. To catch the crab as it falls, a gull flies along a path
represented by the function g(¢) = -8 +15. Can the gull catch the crab before the crab
hits the water? Justify your answer algebraically.
~16t"+30 = -8t +/5
~Jot >+ 8¢ 415 = O Yes, at 1.a85econds
_ - the qull will
. - be
t= 28 t \] 8" - 4(‘/@(/5) Co +the crab.

a(ie) (-1e)

Q5 X J/oatl

-3

"

t

3t

t = =15 (does not nmkﬁjcﬂsc> |
t= 135




4. Solve algebraically: x — 10 +3=0
X

ck:
X')C«L)g,x P s o C:hg*kl_g +3 =0
x> -10t3x =0 -5 4"25——*3 = O
X 3y ~10 = O | o=
(x+5Xx-3)=0 - de.3=0
Y+5 =0 X-3=0 9-5+3 =0

)(:"5 X7; 0=0

5. Find the equation of the parabola Whoée focus is (4, 2).and directrix is x = 2.
[ +(y-af = x-2
(x-4)° +(y-a)" = (x-2)®
ettty iy A= ot
yE-dytll = 4 x
;‘iy 2_ytHd =X

6. Solve algebraically: 3/4x+28 +8=12 W +8 = /2.
| 3\"})(*5?8(;4 ém +§ = |2
Yy +38 = Y 4 r& =
12212 v
Yx = 3¢

2]




